¥2IX 17"7 '010 K, naw .7"02
The four domains regarding naw are — Nawd N YanN

OVERVIEW

The Xn>92 mentions that there are four n2w> NwA. Among these four there are two
2119 AMNT 1 MM, which are a 9"77 and a *"'717; and anything else is a MWD DPA.
The 2°n51 were M3 that certain types of 7105 21pn (generally, if they are more than
'7 %y '7) are a n°7n12. Our XN™12 counts a N°917D as a separate MwI; even though n
TTNT it is a Mwd P, but since its MoYn are different (732777), we consider it a
separate M. Moon asks that the same should apply to a X2w 2°°nNXO N°2n N 9P
77°72 AP (this refers to a large enclosed park like area, etc., which was not fenced
in for residential use), since it too has 2°1°7 distinct from all the other four n1mwA.

nooIn asks:

— DMV /N MY DNYAN 12 PYNY 19D NP
The R'"2w9 has a difficulty; the xXn>72 should have taught that there are five
domains regarding the laws of naw -

— 1919 9910 XYY DINND 1210 9N 9999 NNT
For there is a 'mz-p larger2 than the size of two 780 n"2 which was not
encircled for residential use, in which case -

— PN 71 NN N2 1PI0HVN PRI 29N RIDIN IN NN D290 MY PIND

If one throws from a 2'"71m into this 797p, or the opposite, that he throws from
the 797p to the 7", the 17 is that he is RN™7IRTA 297, which makes the 797 similar to
a >"77. On the other hand however, we are not permitted to carry there more

than nR '7, which makes it similar to a n°2»73 (or a 71"77). We have therefore a fifth mwn,
which is part *";17 and part (12"717 1R) n>9n0.

mooIN answers:
— M) NN MY NINNT 97 U

And one can say; that in reality this 797p is a total #"'m1m, which explains why by
transferring an object between a 71977 and a 1"777, there is a XN 21777 -

" A n97p is a large fenced in area, similar to a garden or park nowadays.

‘Ina n97p that is *>NXD N°2 or less, one is permitted to carry more than NMX 7, even if it was 7772 5217 XY.

? A 70 M2 is an area that measures 50 by 50 mnx, or 2500 square M»X. A 0»nX0 0" is twice that size; 100 by 50
mny, or 5000 square NaX, which is the size of the entire 12wni 7xm.

* Therefore it cannot be counted; in contrast to a n°7n73 which is neither a "1 nor a 1", we can say that it is a
mwn that the 0 121 created. A 797 is a XRP*7KT "7, with rabbinic restrictions. See w'"X27 '0n.
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— $P91995 NINVUY NN 772 NIN 12 )P70501 PRT PI¥D NON
However, concerning the prohibition of carrying in it more than R''7 the 0121
gave it the status of a noo»-> -
- 2191099 PHYN MY 1Y 139 59
But the Xin has already taught us concerning a nv9»721 5"':19, so there is no need to
repeat it and mention the 791p since it is already included in the n>%170 10,

11299 ROV 98N 20 XD 1) 290D
And therefore for this very same reason the Xn>72 also did not teach regarding a
2% for which no m1xn 217% was made. This type of 7%n has the same 7 as a
n97p; if one throws from the 127°Y X5Ww %11 into a 2" (or the opposite) there is a
nRv 210 (for it is a XN7IRTA °"77); however one may not carry in it more than '7
ninx (like a n°91712 or 7997p).

SUMMARY
A np7p is already included in a n°%n721 "7,

THINKING IT OVER
1. What did m»oin assume differently in his question as opposed to his answer?

2. moon initially asks why the Xn»92 does not count 797p a separate MwA. Once
moon explained why 7977 is not mentioned, he adds that this will also explain why
he does not mention 127°y X>w xn. Why did not m»oin ask initially (only) about
127y ROW 1¥n and give the same answer, and then conclude that this will also
explain why the xn*12 does not mention 597p?!’

> The n97p is similar to a "7 in that there is an XN™MKRTA MO°X to transfer to (and from) a 7"77. It is similar to a
%1773 in that it is forbidden to be 112771 "7 72vn. (See following footnote # 6.)

% However regarding a n*>»73 one cannot say that he already mentioned a 7";11 (regarding the 170°X of X"7 1°2y1) and
a 7wd 0pn (regarding that there is no 21’1 for transferring from [or to] a n°on15 from either a >"739 or 1"7M). For a
o3 is different from a 1"77 in that there is no Xn»RTA MOX to be X"7 7°2vn in a 17115 (as opposed to a 1"1M)
and it is also different from a 7Iw5 0P, in that there is an 1312772 MK to transfer from (or to) a N°%17> to a "7 "M
(as opposed to a MWD 0P where it is 72°1N5% NN).

7 See min nnam.
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